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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-II Examination, 2019  

SANSKRIT 
PAPER: SANA-IV 

Time Allotted: 4 Hours Full Marks: 100 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

 UNIT-I 
[Marks : 35] 

1.  (a) Answer any two questions from the following: 12 2
1 ×2=25

 (i) Discuss the variety of the contents of the Mahābhārata. State the influence 
of the Mahābhārata on Sanskrit and other literature. 

7 2
1 +5

 (ii) Give an account of the origin and development of Sanskrit Prose 
Romance. 

12 2
1

 (iii) Briefly discuss the growth and development of Sanskrit Historical Kāvyas. 12 2
1

 (iv) What do you mean by Fables? Give an account of Sanskrit Fable literature.  2 2
1 +10

(b) Write short notes on any two of the following: 
(i) Harivaṃśa  (ii) Kumāradāsa  (iii) Śrīharṣa (iv) Gītagovindam 
(v) Mudrārākṣasa. 

5×2 = 10

  

 UNIT-II 
[Marks: 15] 

2.  (a) Answer any one question from the following: 10×1 = 10 

 (i) In which Sanskrit text was the theory of rotation of the earth propounded? 
Write a critical note on the text and its author. 

1+4+5

 (ii) What is the meaning of the word NUn ? Write in brief the works related to 
ChandaḥŚāstra. 

(b) Write short note on any one of the following: 
(i) Brahmagupta  (ii) Sangītadāmodara   (iii) Suśrutasaṃhitā   
(iv) Sūryasiddhānta. 

5×1=5

  

 UNIT-III 
[Marks: 25] 

3.  (a) Who was Mahāśvetā? By whom was she being seen? Describe the different 
ways in which she was worshipping Lord Śiva. 

2+1+7

 OR 
 Differentiate Kathā from Ākhyāyikā. To which category does Bāṇabhaṭṭa’s 

Kādambarī belong? Substantiate your answer with proper reasons. 
4+1+5
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(b)  Explain in simple Sanskrit with reference to the Context any one of the 
following: 

8×1 = 8

 (i) fujUrj-HkLeksYyq.Bu-flrkh jfrfeo enu-nsg-fufeÙka gj-izlknukFkZekx`ghr- 
gjkjk/kuke~] {khjksnkf/knsorkfeo lgOkkl-ifjfpr-gj-pUnzys[kksRd.BkÑ’Vke~] 

bUnqewfrZfeo LoHkkZuq-Hk;-Ñr-f+=u;u-“kj.kkxeUkke~A 

 (ii) ….. vkxkfeÑr;qxohTkdykfeo izenk:is.k vofLFkrke~] nsgorhfeo 

eqfutu/;ku-lEine~] vejxtohfFkfeokHkzxk H;kxeosxifrrke~A 

(c) Translate into Bengali or English any one of the following: 7×1 = 7
 (i) ef.ke.MfidkLrEHkyXukfHkjkRekuq:ikfHk lgpjhfHkfjo loh.kkfHkfoZyklorhfHk 

izfrekfHk:isrke~] LuiuknzZfylaØkUr-izfrfoEor;k vfrizoyHkDR;kjkf/krL; g`n;feo 

izfo’Vka gjL;A 
 (ii) vuojr-xhr-ifjLQqfjrk/kjiqVo”kkr~ vfu”kqfpfHk “kq)g`n;eiwjoSfjo xhrxq.kSfjo 

LojSfjo Lrqfro.kSZfjo ewfrZen~fHkeqZ[kkfUu’irnfHknZ”kuka”kqfHk iqufjo Lui;Urha 
xkSjhifre~A 

  

 UNIT-IV 
[Marks: 25] 

4.  (a) Discuss the role of Viśruta in defeating Mitravarmā and Prachaṇḍavarmā and 
recapturing the kingdom of Vidarbha for Bhāskarvarmā, the minor prince of 
Vidarbha. 

10

 OR 
 nf.Mu% inykfyR;e~& Justify the statement from your text with apt quotations. 

(b) Explain any one of the following in simple Sanskrit: 8 ×1 = 8
 (i) uuq prlzks jktfo|k]=;h okrZkUohf+{kdh n.MuhfrfjfrA 

 (ii) jkT;a uke “kfDr=;k;e~A “kDr;”p eU=izHkkoksRlkgk ijLijkuqx`ghrk d`R;s’kq 

ØeUrsA 
(c) Translate any one from the following into Bengali or English: 7×1 = 7

 (i) lfUr fg rs nfUruka n”k lglzkf.k] g;kuka y{k+=;euUra p iknkre~A vfi p 

iw.kZkU;so gsejRuS dks”kx`gkf.kA  

 loZS’k thoyksd lexzefi ;qxlglzaA Hkqkuks rs dks’Bkxkjkf.k jspf;’;frA 

 fdfenei;ZkIra ;nU;kftZrk;k;kl fØ;rsA 

 (ii) ,oaxrs efU+=f.k jktfu p dkeo`Ùks pUnzikfyrks ukek”edsUnzkekR;kL;sUnzikfyrL;  

lwuq vln~o`Ùk fir`fuokZflrks uke HkwRok cgqfHk”pkj.kx.kScZhfHkjuYidkS”kykfHk 
 f”kYidkfj.khfHkjusdPNUufdjS”p xw<+iq#’kS ifjo`ÙkksऽH;sR; fofo/kkfHk 
 ØhMkfHkfoZgkjHknzekRelkndjksr~A  

 ——×—— 
 


